7

Asola da usare per il
0 / corrente superiore

# 77777777777777777777 —B e

0

O o

ﬁ; ———————————————————— —8 |
\Asola da usare per il

corrente inferiore

N.B. Correct
positioning of
the blockout ||

70

********* J

>367 68
=Y &l e T &
n n nmnpn
Step "A 5700 Step "B
o o 0
3000
° oo o0 Q0
o o o0 o0
° oo o0 Q0
o o o0 0
&l & gl

115

& &

W/,

AT ;cg
%

~

Step "C"

\ﬂ E1

660

1100

Angoli smussati

verso l'alto -
y
Q o © ©O 64—
O O o
[e] o o BH—
——
J o
o (o] (o] §_|_
O
7 7o o o
0
& B B 8
Step IID"
Q
o=
Round head facing
0. / the road
Q
r Double cover version
. Ref.
T~ 0 8 11 |Left post cover
~ ’ 12 |Right post cover
@ 13 | Bolts TE M10x150

vz

Step IIEII

Component list

Ref.

Item

1 "C" Post

Measurements expressed in mm

Threaded rods M20x250

Upper Blockout

Tightening torque:
torque between 120 & 130 Nm
torque between 150 & 200 Nm

Ref. 5
Ref. 8

Torque values must be checked with a calibrated torque wrench

The bolts Ref. 8 are preassembled, remove the nuts to proceed with the installation

Lower Blockout

Bolts TT M16x30

Corrugated Splice Plate

Protection Rail

Bolts TTQST M16x125

OO NN~ WN |-

Single Post Cover

—_
o

Bolts TTQST M10x100

MARGARITELLI
ROAD SAFETY

Drawing Issued

IM 026-01 18/02/2010
Review Date

05 20/06/2022

Object:

Bridge Safety Barrier H2BP-03
Certificate of Costancy of Performance CE n° 0497/CPR/3481
Assembly instructions

Proprieta di Margaritelli Ferroviaria SpA - Via Adriatica 109 - 06135 Ponte San Giovanni - Perugia






